Einstein Curvature Upside Down (1/G)

Ode to Peter Higgs

Dear Sir Peter Higgs you are G-knighted right Now!

Your vision long ago now tells precisely how--

To measure gravity—and see a nest of shells

Where the ubiquitous electron 3-D dwells.

Gravity field shells dictate the electron’s speed,

And that speed squared tells of orbit frequency need.

Each shell has radius R from the black hole center.

Shell Surface Ball Bearing size G is a Winner,

Allows least friction of motion for every shell--

To always ring Universal Harmony’s Bell!

UH as Designer God is R over G,

Always equal to R’s three axis energy.

R and G belong to Newton and Einstein as Universal Harmony(UH)

Einstein’s space curvature field equation is simplified per his late desires to G(  R/3v2 and turned upside down, so 1/G = 3v2/R as universal gravity force. Newton and Einstein calibrated physical reality without ever knowing why. But Einstein like Kepler, believed in Universal Harmony (UH) as Designer God (“TheOld One”). As Einstein knew at the end, simpler math is much needed. Newton’s use of G applies only to the outer solid shell of planet Earth as seen by the sun, where it is equal to Higgs particle radius. Einstein’s G is also Higgs particle radius but is infinitely variable. That makes Newton’s gravity constant the radius of the typical atom--which happens to be the Higgs particle that defines the solid outer spin surface of the Earth.

So how does G as a constant instead of a variable, manage to work in Newton’s law all the way from space-flight altitude above the Earth’s surface to the mathematical center? (1) Because Newton’s G does refer to the Higgs particle as atom that forms the solid outer surface of the Earth, (2) because the Earth can be said to be a concentric array of electron-hosting, spinning shell surfaces that go from the outermost one to the boundary of a maximum density black hole (BH)-- serving as proactive Math Point Center, (3) the value of G for each shell varies inversely and precisely with the surface mass of each R-shell, so variation is not noticeably needed as R changes (4) the well known mass of the Earth says there are roughly 1027 atom size G’s making up the spherical surface that is spinning in space—as seen by the Sun’s radiation as reflected off that surface to make it visible.

The gravity field in general is here said to be a concentric array of R-shells, each capable of hosting 2/h circular orbiting electrons that bind it in 2D, and provide for up to 1/h-squared in-out oriented Z-electrons--that can bind all 2-D shells in 3-D—every shell-discrete step of the way --from visible outer surface to the central BH. 

Shell Structure of the Atom represents all gravity fields

The central nucleus of the atom is known to have a minimum radius on the order of R = 10-14 centimeters (cm). Contrary to Bohr’s assumption, an electron in stable circular orbit inside the atom must follow the frequency, f, wavelength, 2(R, speed, v, tautology-- f = v/2(R = v/2(10-14 ( v/10-13 cm.  Let the maximum 3-axis spin energy of the atomic nucleus be equal to the inverse of Planck’s constant, h, or 1/h ( 1026 ergs-- as an h-symmetry assumption proven by quantum theory-- so that one axis energy, v2 = ((1/3h) ( ((1/3x1026), and v = vmax ( .5x1013 ( 237c. The shell spin speed inside the atom can then be assumed to go from v = c at its visibly-solid outer boundary at a radius of about 10-8 cm, to vmax ( 237c at a radius of about 10-13 cm. A discrete shell spin energy hierarchy is problematic-math predicted, but we cannot visualize it. The atom’s concentric array of electron hosting shells must each be variously bound by hosted electrons in three dimensions-- to serve as a means of detailed visualization of the energy hierarchy. The concentric shell array characteristic must indeed apply to all gravity fields--- from atom to planets, to cosmos whole. 

It is h-symmetry of Planck’s constant, h, in terms of minimum energy quantum in ergs, and minimum quantum mass in grams, that lets us get crudely by with the current best theory. But the problematic math we use blinds us to the detailed frequency pulse mechanics of the Planck Relation, E = nhf so that n as measured is always a count of 1/h electrons of mass, h grams each, and always E = f!  

Experiment repeatedly tells us that E is numerically equal to frequency or that E ( f, and it is time we assume that “anthropic” measure automatically makes n = 1/h electrons of mass, h, grams in pulse parallel so that E = nhf = Mv2.This is how grossly we measure and why we have not yet solved the energy hierarchy mystery!

The geometric meaning of mass, energy and force revolve around this discrete shell structure of gravitational physical reality ----as a field-forming set of spin surfaces. 

The standard model concept of mass as volume divided by density (of Higgs particles) is h-symmetry-grossly wrong!

True total mass for a field which is maximally 3-D bound by orbiting electrons is the number of concentric shells, n, each defined by 1/h-squared Higgs particles, for a total of n/h-squared as a total spin surface count of Unit Mass Higgs Particles. If we define a black hole as having n = 1/h fully electron populated shells, then the BH mass volume of Higgs particles in motion at maximum possible speed is 1/h-cubed.

Based on h-symmetry alone, a maximum electron orbit speed at the BH outer boundary must be vmax = (1/3h) ( 237c so that each orbiting electron in that shell has a linear energy along helix centerline of roughly (237c)2 = 1/3h ( 15.39480x(c2) centimeters per second (cm/sec). The 3-axis energy of the shell at the BH must be (3vmax)2 = 1/h -- so mass count of G-size Higgs particles forming the spherical surface of the BH shell is the square of 3-axis energy, or 1/h-squared ( 1052 ergs. 

Higgs particle size at the visible surfaces of the known atoms of the Periodic Table tells us its relative mass as an outer visible surface density--not volume density.  Atomic mass varies with visible surface c-boundary radius that goes from about 10-9 cm for lightest weight Hydrogen, to 10-7 cm for he heaviest weight element. The typical atom size as given by Newton’s constant is about G = 10-8 cm. The G-size Higgs measures local space and time, and force. New dimensional homogeneity must see that mass is a count of G-size Higgs particles that form a moving surface. 

Local force, time and space are (1/G), t & G for all gravity fields
Einstein’s space curvature, G = 8(T is changed to G = R/3v2, which the makes 1/G numerically equal to local gravity force at the surface of every gravity field shell --whose spin surface is defined by G as the replacement sphere radius of the unit mass Higgs particle. Visible matter objects are seen in terms of that outer surface where G –size Higgs particles are moving at the speed of c. This is why Einstein’s most famous equation, E = Mc2 is an expression of Universal Harmony (UH) that says R/G= the 3-axis energy of R as 3c2 ( 1021 ergs—as a threshold for “consistent visibility”. Note that the Tensor, T, is valid where it numerically reduces to R/3v2(8()!

Gravity field dark matter is stirred constantly by its central black hole (BH), and the ratio, R/G as Universal Harmony (UH) causes dark matter to instantly granulate for least friction --so that R/G is numerically equal to the 3- axis spin energy of R-- and the G-size Higgs particle forming the spin surface of R is a minimum friction ball bearing. Every location R in space is at its lowest possible spin energy state, and 1/G is a direct measure of local gravity force acting on a unit mass, G at shell radius R.

Newton cleverly calibrated gravity at Earth’s solid spin surface where atoms of radius G ( 10-8 prevail. His formula for a unit mass (m =1) at the Earth’s surface where mass is M varies with R-squared, where R is the distance to a BH-math-point center of the Earth. Force acting on a unit mass of radius G, must be F = 1/G = (m=1)M/R2 ( 1/10-8 and R must be on the order of R ( ([G(m=1)M] ( ((10-8)(1027) ( ((1019) ( 109 cm – as the effective visible radius of the Earth as consistently measured by the radiation being reflected back to the Sun! The c-boundary of the atoms forming the solid outer surface of Earth as it wobbles on it own axis must return slightly red-shifted gamma ray energy back to the sun at a speed of about v = 109 cm/sec---or with a three axis energy seen by the Sun of 3v2 ( 1019 ergs.

G measures local spin surface time, t, as 1/G ( 1/t ( force. Space, S = G = t are UH-experienced! Higgs particle size, G, determines anthropic meaning. Frequency pulse, f, is a measure of energy, time, temperature and vibration—so the process of E = nhf = Mv2 can be visualized in pulse-level detail where n = 1/h! Time, space and force are local-observer-relative to c-boundary visibility as a surface size, and spin speed--- as the Higgs particle felt sense of physical reality. Anthropic means we are happily stuck with the 1/G relativity of local force measure! For much more, click on:

http://www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc
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